
 
Exercise TD
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if n is an integer either n or n l is even

e m2 h has a factor of 2 and so is even
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g Prove 3 n An 10 is positive for all h
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e 3h 4h 1 10 is positive for all n
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1 5,2 form a parallelogram
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AB and CD are parallel
Gradient BC I

G Z 4

Gradient AD

BC and AD are parallel
Two pairs of parallel sites ABCD is a parallelogram
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Triangle is right angled and isosceles

19 Prove 4g 3 26 0

is a tangent to circle Rta t y 35 100
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loose 1 100 0
2 4K t 4 0

x 25 0

only I root 2 2 y 5

Line and circle intersect only at 2 5

line is target to circle

Homework Exercise TD even numbers


